[image: image1.png]12-90. The fireman standing on the ladder directs the
flow of water from his hose to the fire at 5. Determine
the velocity of the water at A if it is observed that the
hose is held at 6 = 20°
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[image: image2.png]1294, The stones are thrown off the conveyor with a
horizontal velocity of 10 ft/s as shown. Determine the
speed at which the stones hit the ground at 5.
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Solving for the posidve root, 1225235 5
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[image: image3.png]*12:112. A package is dropped from the planc which is
fiying with a constant horizontal velocity of 4 = 150 t/5.
Determin the normal and tangential components of
acceleration and the radius of curvature of the path of
motion (a) at the moment the package is released at A,
where it has a horizontal velocity of v, = 150 ft/s, and
(b) just before it srikes the ground at B.
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[image: image4.png]12-114. ‘The automobile is originally at rest s = 0. If it car
then stats to increase s speed at § = (005) fyst, ¢ O the cuned ik,
where ¢ i in scconds, determine the magnitudes of its

velocity and acceleration at s = 55011 4 =007
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